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Read the following instructions carefully before opening

the Question Booklet.

1. Immediately after the commencement of the
examination, you should check that this test booklet
does not have any unprinted or torn or missing items
or test booklet series (A / B/ C/D) not mentioned. If, so,
get it replaced by a complete test booklet from the
invigilator,

2. Answers are to be marked only in the given OMR
Answer Sheet.

3, There are 60 questions in this test booklet. All are
compulsory.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle with
black ball point pen in the OMR Answer Sheet. Do not
mark ‘v’ or ‘X’ in the OMR Answer Sheet.

5. All questions carry equal marks.

6. Answers other than those marked by Black Ball Point
Pen will not be evaluated.

7. Rough work can be done in the rough sheet appended
in the test BOOKLET at the end but not in the OMR
Answer Sheet/ loose paper.

8. The OMR Answer Sheet is not supposed to be folded
or mutilated in any way.

9. You are also not supposed to write an:.rlhing on the
reverse of the OMR Answer Sheet.

10.Please return the OMR Answer Sheet only to the
invigilator after the completion of examination. You
can retain the test booklet.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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Two glass slabs of refractive indices p, and
K, respectively, are placed as shown.

9.~ AIR
8, SLAB1
Hq 02/
by SLAB 2
w

//H:;; AIR

A ray of light enters the first slab and emerges
from the second slab after undergoing
refraction. The final angle of refraction 6, is
given in terms of the initial angle of incidence

8, by :

[ |

sinf, = 2L sin g
(A) L
1
(B) 84 =36
(©) 8y=8,

(D) sinby = Ju; py sino,



@m wallgen Lerafl A-uls) Gmbg Larafl
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pLsfprit. AB-uden @grepae, 12 15 Lerarl
B-Wellmps Lerafl C-&@ LCBA =45°
@mégwry pLa&dipri.  BC-ulen
Ggreneay 10 5 gy@b. seuit C-ulelmbHE
A-dlp@ CpiGariye Hmbyspri.
epigw Lmeng ABCA e erarddlw Lyl :

(A) 082
(B) 30/V2 5?

© w2

(D) 2308

Qm deargr_Lmsdr +Q wHmb —Q
apenGu A wHmb B eremm yereflsafia
Hlevawrs, eeudsL Hereng. AB erenp
Gam_ig e enowiijerafl, O-efled Gamgenen
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Gergenen Nl L s e amyliu{id
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(A) OA -ulen Slensulic
@ OB -uler Hensufe
(©) wHwWD

(D) AB-&@ Geiughsren Hesulle
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A man walks in a straight line on a plane
floor from a point A to a point B. The distance
AB is 12 m. From B he walks in a straight line
to a point C such that ZCBA =45° The
distance BC is 10 m. From C he returns to A
along a straight line. The area enclosed by
the closed path ABCA is:

(A) 0m?

(B) 30/y2 m?

(€ 60/y2 m*
(D) 2J30 m?

Two charges +Q and —Q are held fixed at
points A and B respectively. A test charge
+q is placed at the midpoint O of the line
AB. The electric field experienced by the test
charge is :

(A) along the direction OA
(B) along the direction OB
(C) =zero

(D) in a direction perpendicular to AB

P.T.0.
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Consider a set of thin biconvex lenses with
different refractive indices. All the lenses have
the same value R, for the radius of curvature
of one face and the same value R, for the
radius of curvature of the other face (R #R,).
The focal length f of each lens is measured
and plotted on a graph of f versus the
refractive index w. Using the lensmaker's
formula, select the correct plot from the
following :

(A) f
0
® f —
0
o
© f
0
o [
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Ch

5. A steady current flows in the circuit shown.

Which of the figures below correctly shows

the electric potential V at the points. A, B, C

and D ?
a) Vv .
[ ]
0 ABCD
L]
(B Vv &
-
0 ABCD
v
{C} . ® ® W
0 ABCD
[D} 'v'f. [ ]
& @
0 ABCD

P.T.O.
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RO 1y HYID LigLoen V, Asraim G
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Caupgur® AT=300°C. Qautiu eifiay
sryemrons, Carergflen 2 rb 2y rbU
wHuldmhg 0.1% fsfsdps.
AV  3Ar

A - P Qar@ésuul_Lme,
Carergdlen Lmw eflifleys@araind :
10-3/°C
4

B 3 x 1075

(©) g = x107°oC
(D) 10-5/°C

Qar@ésuul L eleanlearug, @
Guryren oL &m B qm flu rreven
Qudg. @6 H elspoayb,
k S@ur gsasenarib e (meuns@dna.
5B10+gn! - k (;Hed) + ,H? erafleb

(A) k=1

O -2

(C) k=3

(D) k=4

R SIS | ETSHle) HLSED Osreneey (s),

1 5 & . >
s=ut+ > at? gretm FWeTLmLmed

Cer@éstiu@ipg. @uE u wHmyb
a wrildllser. erafld, godr paras :
(A) sl durengullea

@ wrors WPhHEssdda, CrrCsmige

(C) sraw-wrmb WwHéssg e Cri-
GCam_ige
(D) Bereul Ll urengulle

A metallic sphere of radius ry and volume V,,
is heated. The difference between its final and
initial temperatures is AT =300°C. Owing to
thermal expansion, the radius of the sphere
increases from its initial value r, by 0.1%.

Given that av = E, the coefficient of
Vo Iy

cubical expansion of the sphere is :

(A) 10-3/°C

4 -5
f o
(B) 3 * 10

(©) % 7 x 1072 C
(D) 10-%/°C -

A Boron nucleus ;B!? captures a neutron to
produce a nucleus of ;H? and k alpha-
particles according to the reaction

B0+ n! 5 k (;Hed) + H® Then:
(A) k=1
B) k=2
(C) k=3
D) k=4

The distance s covered by a particle in time #
is found to be given by s=ut + %alz.

where u and a are constants, Hence the

particle moves :

(A) in a circular path

(B) in a straight line with constant
acceleration

(C) in a straight line with time-varying
acceleration

(D) in an elliptical path.
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samewry UTeTsElen sigloen AD=QN=
J5 Q&.8. Qsrenevay RN erenug) :

(A) 25 @&.5.

GesdGanadler 2&SnGapy lenams-
sran swarur(® C.H,,0, +0,— CO,+H0
erar QarHssuul_(Heararg. @& &wen
Qelwliu_dldeow. @m Cuored GEns-
Gamev pperwWrs &HRGarHOD
e wbCung e mengd HO whmb
CO, Gurdsaflen cramarfisans :

(A) 3,3

O oo

(C) 12,12

(D) 6 (CO,), 12(H,0)
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10.

A ray of light PQ is incident at a grazing angle
on a glass slab ABCD of refractive index 1.5.
The ray undergoes refraction at Q and enters
the slab, and emerges from the slab at R.

F 3
lﬂ

The thickness of the slab is AD=QN=
J5 cm. The distance RN is equal to :

(A) 2/5em

B) J5cm

(C) 2cm

(D) 2/45 em ;

The chemical reaction for the oxidation of
glucose is given as CgHy,0g+0,—
CO, +H,0. The equation is not balanced.
The number of moles of H,O and CO,
produced upon complete oxidation of one
mole of glucose are :

(A) 3,3
(B) 6,6
(© 12,12

(D) 6 (COy), 12(H0)

P.T.O.
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11. Among the following, the correct match is :

(A) (1)
2
(3)
(4)

(B) (1)
()

(3)
4)
© ()
(2)
(3)
(4)
(D) (1)

(2)
(3)

(4)

Anesthesia
Analgesic
Antipyretic
Antiseptic

Anesthesia
Analgesic

Antipyretic
Antiseptic
Anesthesia
Analgesic
Antipyretic
Antiseptic
Anesthesia

Analgesic
Antipyretic

Antiseptic

(@)
(b)
(c)
(d)

(a)
(b)

(c)
(d)
(a)
(b)
()
(d)
(a)

(b)
(<)

(d)

Phenol
Antipyrine
Novalgin

Nitrous
Oxide
Novalgin
Nitrous
Oxide
Phenol

Antipyrine

Nitrous
Oxide
Novalgin
Antipyrine

Phenol

12, The atomic masses of Uranium, Oxygen and
Fluorine are 238, 16 and 19, respectively, in
an appropriate unit system. The percentage
composition of Uranium in UO,F, is :

(A)
(B)
©
(D)

70

77.3
10.4
12.3

-
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14.

15.

16.

aésganed Gsrgud e Corsgs e
cilenenyfibg e (Heurs@eug

(A) psdigen eumy

(B) Cemgqwib ersgsGeammGuil

o

(D)

Gamqgwi FHHTEMEH
ENEIDLTERET QU
Gamquwid FHsTéEemsH WHOHILD FHIT

WD mILD

KIO, wppibd KO, -& 24Cumgaflen
=, 68mCanpn Flevew pepGuw

(A) +5 whmd +5
(B) +5 wppd —1
(C) -1 wpmw +5
@ +5 wpm +7

Epssam_ Geingdlen
CH;~CH—CH=CH-CH~-CH;

a OH
IUPAC Gluwir ?
@ 5-@GerrGyr-3-Clansfen-2-g,é
(B) 2-@CerrCrr danéen-3-mrei-5--246
(C) 5-@GamGrm-4-Gansfer-2-p6
(D) 2-@GarnCyrn-3-Camsfen-2-p0

25.0 868 0.32 M (CGuwremri) H,50,-g

apppenowins BHEleounsss Coanal-
u@Bnd 01 M (Coreri) Gsrgwd

D@D _[TEENFIG 60 SN HeTa :

(B) 80 9.6l
(©) 16 .60
(D) 120 .68
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13.

14.

15.

16.

Ethanol reacts with sodium metal to form :

(A) Oxygen gas
(B) Sodium ethanoate
(C) Sodium ethoxide and Hydrogen gas

(D) Sodium ethoxide and ether

The oxidation state of Iodine in KIO; and
K IO, are, respectively :

(A) +5and +5

(B) +5and -1

(€
(D)

—1land +5
+5and +7

The IUPAC name of the following compound
CH;—-CH-CH=CH-CH-CH; is:
| |
cl OH
(A) 5-Chloro-3-Hexene-2-ol
(B) 2-Chloro Hex-3-ene-5-ol

(©
(D)

5-Chloro-4-Hexene-2-ol
2-Chloro-3-Hexene-2-0l

-

The volume of 0.1 M (Molar) sodium
hydroxide required to completely neutralize
25.0 ml of (.32 M (Molar) H,S0, is :

(A) 160 ml
(B) 80 ml
(C) 16 ml
(D) 120 ml

P.T.O.



17.

18,

(A)

(B)

(D)

Semeumeuemeupmier, 2ils Gorart Hlem
Caram tposamap sar s o
Benp C=12, H=1, 0=16, Na=23, 5=32,
Fe=>56.

(A) FeSO,

(B) Na,SO,

© cH.0

(D) Na,C,0,

Groypw o drer Ceudlellananagnsib,
LD o drer eaumbler eflenan
umss@Egh sflursd Aummsduerear
i LGuenamTenild SHeurLihlE.

C(s)+0; (g) — CO, (g) [IT—
AgNO; (aq) + NaCl (aq) — | __ —
AgCl (s) + NaNO, (aq) oS puigaurds
2 NaOH (aq) + H,SO, (aq) — =
Na,SO, (aq) + 2H,O (aq) pRfeaurisd
I (s) — Lig) =
Cis)+ 0, (g) — CO,(g) LSk ST gD
AgNO,; (aq) + NaCl (ag) — |
AgCl (s) + NaNO, (aq) [CTAL VN
2 NaOH (aq) + HSO, (aq) - | :
Na,50, (aq) + 2H,0O (aq) efpLig ains e
I; (s} - Li(g) e
Cfﬂ}-l—ﬂz [g_] - CO: [EI.. sy
AgNO, (aq) + NaCl (aq) —

afilpLgaunsasd

AgCl (s) + NaNO, (aq)
2 NaOH (aq) + H,SO, (aq) —

Na 50, (aq) + 2H,O (aq) o (Hflenawurssd
1; (s) — L(g) USEIS0NSE
C(s)+0; (g) — CO, (g) el

AgNO; (ag) + NaCl (aq) —»

AgCl (s5) + NaNO; (aq) BHfleaurssd
2 NaOH (aq) + H;S0, (aq) — - P=
Na S0, (aq) + 2H,O (aq) Plig aiT&se
L; (s) — Li(g) e

X-CMTSE-2024-11 / A
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17.

18.

(A)

©

(D)

Among the following, identify the molecule
with the highest molar mass. Atomic masses
are C=12, H=1, O=16, Na=23, =32,
Fe =56.

(A) FeSO,
(B) Na,SO,
(€) CgH, 04
(D) Na,C,0,

Identify the table in which the reaction on
the left-hand side and its type on the right-
hand side match correctly.

C(s)+ 0, (g) — CO, (g) Sublimation
AgNO, (aq) + NaCl (aq) — B
AgCl (s)+ NaNO, (aq) Eraciplation
2 NaOH (aq) + H,S0O, (aq) —
NSO, (aq) + 2H,O (aq) Neutralization
I (8) — Lig) |Combustion
C(s)+ 0, (g) — CO, (g) |Sublimation
AgNO, (aq) + NaCl (aq) — )

AgCl (5)+ NaNO, (ag) Neutralization
2 NaOH (aq) + H,50, (aq) — e
NaSO, (ag) + 2H,0 (aq) | e PHRtOn
I (8) — Li(g) Combustion
IC(s)+O; (g) — CO, (g) Combustion
AgNO; (ag) + NaCl (aq) — .
AgCl (s) + NaNO, (aq) FIERdi

2 NaOH (aq) + H,50, (aq) —» ;o
Na:SO, (aq) + 2HO (ag) Neutralization
L; (s) — L(g) Sublimation
C(s)+0,(g) — COs (g) |Combustion
AgNO, (ag) + NaCl (ag) -  [Neutralization
AgCl (s) + NaNO; (aq)

2 NaOH (aq) + H,50, (aq) — Ll
Na;S0, (aq) + 2H;0 (aq) LRESiptarian
Ij {5]' — l:(g} 5ub]l:ml:im‘l-




19. Bred 1-& edrar ufeysamer Byeo 1-@ 19. Match the entries in Column - I with entries

perer LFleys@sen QUTHSSHIS. in Column - I1 :
Hlyed - 1 By - 11 Column - I Column - I

(a) eLS@H&eT (1) evLmié (a) Lipids (1) Starch

(b) Hlupsafls (2) Gamupuy (b) Nucleic acids  (2) Fatty acids
Siblekiser <= Ll v rhu & 6

(€) Yrsrhiser (3) Ig.erem.qr. (c) Proteins (3) DNA

(d) srrGumr 4) blGenr (d) Carbohydrates (4) Amino acids
enanl_GrL(Hser <24 L5l G0 M & @

O @-0.06-0.0-O.@-0 (A) (@)-@).0)-6)©-@ @-0
(B) (a)-(4) (b)-(2)(c)- (1) (d)-3) (B) (a)-(4). (b) - (2), (c) - (1), (d) - (3)
(© (a)-(3) (b) - (1), () - (4) (d) - (2) © @-@)®)-@1)©-@ @-@
(D) (a)-(2), (b) - 4) () - (1), (d) - 3) (D) (@) - (), (®)- @) )-1)(d)-C)

20. Canefll-19 Gpmig Agrperp gPubHSI- 20. COVID-19 infection is caused by :
g

(A) uréefwr (A) Bacteria

) oo (B) Virus
(C) Eepens (C) Fungi
(D) rrevL (D) Yeast

21. @erlenuudd eerer Sl 21. The acid present in stomach is :

(A) &B5s 2bleb (A) Sulphuric acid

? enapCyr@Gerrflé Siblewb (B) Hydrochloric acid

) enplfé ybled (C) Nitric acid

(D) oeumiflE sibleod (D) Formic acid

22. “‘@HLUL” e cuanstiurl (o | 22 The taxon called “Family” is placed

uigflena . S EsEnEE between :

@eLCu SienwbgeTers.

(A) aly wppw Cufled (A) Class and Genus
(B) eauflens wpmw euguY (B) Order and Class
(€©) Cufiend wppb HDHlemd (C) Genus and Species
@ aflens wpmpd Cufland (D) Order and Genus

X-CMTSE-2024-1l / A 11 P.T.O.



23.

24,

Blyed I-6b 2 grer usleysenar Blyed I1-a
2 emem LglaysEnian QuTmgs.

Hlyeo - 1 Blyed - 11
(a) @wesr_ed (1) gefléCarseans
(b) Lmireller (2) wrSwe
(c) &méreflen (3) en@pL rggen
erfl@ummer
(d) &.erem. i ) uMerrmon
Trey

(A) @-1), ®)- @) ©-06)@-Q
O oeo-o0bn-00-0.0-0
© @-6).0)-@).©- ) d- @
D) @ - @, ®) -1, ©- @, @-6)

Bred 1-& o aver ueyseer Bireo M-a
earer Lfleys@ner Gummsgs.

Hlyed - 1 Elye - 11
(a) @eflymy aumersa 1) Geuduflena
) pOssyp wearger  (2) fi
(€ Caiugyn aumage  (3) gafl
(d) Som cuenenge (4) CsrBse

25.

X-CMTSE-2024-11 / A

(A) (@) - (1), (b) - (3). () - (4). (d) - (2)
(B) @-4).(b)-(2),(c)-3), (d) - (1)
(©) @-@) ®-) () - Q) (d)- @

@) - (3). (b) - (4), () - (1), (D - (2)

BL&EW Sy wHML e L &mw e
wenpub fHlene
(A) Quirflenew
(B) enrhlena

@ YCrriflena

(D) eGarflaw

12

23.

24,

25.

Match the following entries in Column - I
with entries in Column - II :

Column - 1 Column - II
(a) Mendel (1) Photosynthesis
(b) Darwin (2) Genetics
() Calvin (3) Hydrogen fuel
(d) CNR Rao (4) Evolution
(A) (@) -(1). (b) - (4), (&) - (3), (d) - (2
(B) (@) -(2).(b)- (), (c)- (1), @) -3)
©) @ -G)®)-@)(©-1),d-@
(D) (@) -4),. (®)- (1), (©) - 2), (@) - (3)

Match the entries in Column - I with entries
in Column - II :

Column - | Column - }'l
(a) Photonasty (1) Temperature
(b) Thigmonasty (2) Water
(c) Thermonasty (3) Light
(d) Hydronasty (4) Touch
(A) @ - (1), ®)-(3). () - @), @ - (@2
B) (@ -@) - ©-E)@-0)
(© @-6)®)-0). -2, @-@4
(D) (@) -(3), (b) - (4). (c) - (1), (d) - (2)

Nuclear membrane and Nucleolus disappear
during :

(A) Metaphase
(B) Anaphase
(C) Prophase

(D) Telophase



26.

27.

28.

(a)

(b)

(c)

(d)

U(pss eurenpluuPiiser SjLmdw
el euuller eeusslILIBD LpESTS
gEsmefl (MU IT U &6l
STIERTONS @ BreT sHl5%5 UWEss
suRESDg.
(A) smiruen el S &ans(h
(B) amiuen Gurenrdeans(h

e &bl elein
(D) enplf& s &ensl®d

Spssam_aupmer arhss smmel weafls
eLe ecdaEpguysaflar gdlsmend
sar_fu e saflng ?
(A) evl9&CuomorGermBl i
(B) evenuCrmbii

QAL gsTaGHTL
(D) webey By&HBC LT

Blred I-é e erer LFleysienLen Biyed 11 -6
eerer uflayseery DUTmHSSHS.

e - 1 Blyeo - 11
Brés (1) safblur
QeucrenaTwuigpidaer

GPDED

Qrass sLBsar  (2) ey sCan-
GHDDSD en&l_GLmélen
Qs (3) edlw,aGam-
QleudTeneTigm&&eT Seflwr

= Slaflszao

@rés 4) SHrroCur-
Sleulugn &ser s GLm-
&ENMSED Seflwr

(A) (a)- () (b) - (2), () - (4). (d) - (1)
(B) () - (4). (b) - (2). (c) - (1), (d) - (3)

O e-60.0-0o-0w-0

(D) (@) -(2) (b) - (1), (c) - (3), (d) - (4)
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28.

(a)

()

()

(d)
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Unripe tomatoes placed in a closed bag
containing ripe bananas start npenmg after
a day due to production of :

Carbon dioxide
Carbon monoxide
Ethylene

Nitric oxide

(A)
(B)
©
(D)

Which of the following instrument is used to
detect the sounds produced by internal
organs of human body ?

(A)
(B)
(©)
(D)

Sphygmomanometer
Spirometer
Stethoscope

Pulse Oximeter

Match the entries in Column - I with entries
in Column - 11 :

Column - [I
(1) Anaemia

-

Column - [
Decrease in WBC

Decrease in Platelets (2) Leucocytosis

Increase in WBC (3) Leukopenia

Decrease in RBC (4) Thrombocytopenia

(a) - (3), (b) - (2). () - (4). (d) - (1)
(a) - (4), (b) - (2), () - (1), (d) - (3)
(@) - @), (b) - (4), (©) - (), (d) - (1)
() - (2), () - (1), (©) - (3). (d) - (4)

(A)
(B)
()
(D)

P.T.O.



29, ypenfl eremug @e LG

sremuuBib uGH.
@ .wscsre wppid @
(B) Sis5Camed whpi> 9
(C) Guflensédler wHMID &ESCHTED
(D) =485Ggmred LHMD UTEDGOTTE
QsmELiLy

30. Gemeumd emeul L Wiensafler et BITSSLD
eenpgalas rHubHEng ?

(A) eneaulLflén D

(D) emeul i flem E

31. ‘mpenpy rHSleTmsET @D epeny
Car_ur®samer Cunflsseur :

(A)  ussm

(D) &ermy#luiev

32. 1962-=ib yawh CwfAssreaiyd
Corefilug weflwenanyd iem <pwsl
Curir ghulb aomassE Csrear(
Qgenm Flspey ergy ?

@ gl ureilen geysenent SyFsanan
b Qarflu Gumr
(C) GQuirellen efliren CurdGeurss

(D) &lwur yrl#
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Cortex is the region found between :

(A)
(B) endodermis and pith
(©
(D)

epidermis and stele

pericycle and endodermis
endodermis and vascular bundle

Which of the following Vitamins is involved
in blood clotting ?

(A) Vitamin D

(B) Vitamin A
(C) Vitamin K
(D) Vitamin E

‘“Tri-ratnas’ are the three principles taught
by :
(A)
(B) Mahavira
(©
(D)

Buddha

Lao-tze

Confucius

Which event in 1962 brought the US and the
Soviet Union to the brink of nuclear war ?

(A) Cuban Missile Crisis
(B) The Korean War
(C) The Berlin Airlift

(D) The Cuban Revolution



e

33. udlCen_Lmb mippramge ogerafibs-
wrelled CeugymrdSwmrt DA gegrmés
erdlrrs el pLsHu yrisl erg 7
(A) Ceugni yrL &l
(B) apse @BHw sspHru Gum
@ Urenemugsmyr Lrlg
(D) grendl gremfl Ly 4

34. 13-4 prppreatTged wiiGsredlwirsermen
Garpmefléstiu’ L eubsb g ?
@ L|EUEN GULD&LD
(B) @psamu Gugrs
(C) o Crmoar Gurrs

(D) @uurflgs sdUTsseT

35. Qarés sre spsmpeilsmen waflgen
vwenu@ESSL STad Gdieurn euems-
LBESLLGSDS.

@ Uenpw SH&TELD
(B) BEle_sapsmald
(C) yHw spsTeDd
(D) @mwyssTed

36. uamenLw sreddd SO sepsD eTHEm
S LuenLudled auamsILBHSHSU-
UL HbES ?
(A) euiremrid
(B) &gl

@ &l enewr

(D) &b
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33.

36.

Which revolt in South India was led by Velu
Nachiyar against the British in the 18th
century 7

(A) Vellore Revolt

(B) First War of Independence
(C) Revolt of Palayakkarars
(D) Rani of Jhansi's Revolt

Which Empire was founded by the Mongols
in the 13" century ?

(A) Yuan Dynasty

(B) Mughal Empire
(C) Ottoman Empire
(D) Abbasid Caliphate

Which period is characterized by the use of
the earliest stone tools by humans ?

(A) Paleolithic
(B) Mesolithic
(C) Neolithic
(D) lron Age

The Tamil society during ancient times was
classified based on the concept of :

(A) Varna
(B) Caste
(C) Thinai
(D) Dharma

P.T.O.



37.

38.

39.
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‘FEAganen wiseTr 8’ ergyd smES
eTibs prafsss e Gnmidu Qsmiy
Casramgmbss 7

Qe ssrajflae Ogaaflpdurddea

sifls Hau ugdsmar @ LHHD
sLa aaisgdle ysp Gupp Currs
a& ?

slmuEsr Guiys

(D) wurermgw Gurps

Tupsns o meursdu  UeTenLW
praflansafle geammrs smsiLBHeug.

(A) erdlugluirser
@ GwsuCGLmbllwrsar
(©) HApzQeuaf

(D) Semiaer

Spssam_auhpedr ereneu SHenwwmen Bir
L& SLHUUTLDESTar &DDnF@Lpe
Sré&&58iL a1 Faig i CsmiheTenasar -
(A) Gpsey Ggmfipsrena

(B)
(C) shéser Aemfhaerene

@ snélg Csmfihsrena

Caréd ugalBse
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37.

39.

40.

The concept of ‘ Athenian Democracy”’ is most
closely associated with which civilization ?

(A)
(B)
()
(D)

Roman

Greek \
Egyptian

Indian

Which Empire ruled over large parts of South
India during the Medieval period and was
known for its maritime trade ?

(A) Vijayanagara Empire
(B) Chola Empire

(C) Pallava Empire

(D) Pandya Empire

Which ancient civilization is considered one
of the first to develop writing ?

(A) Egyptian

(B) Mesopotamian

(C) Indus Valley

(D) Chinese

Which of the following industries is
associated with a high environmental impact
due to water pollution ?

(A) Textile Industry
(B) Tanning Industry
(C) Sugar Industry
(D) Paper Industry




41.

42.

43.

@rdwureiler aLsdled QQubes
ramawrs smsuuiBbn yelluwe
fAply erg ?

(A) SsE CsrLisél wene

(B) sésmenr Ll

@ @wwineesdr

(D) smiT LrenaEUEILD

o awdflé EbSlwurellen senoeflitb

(A) 20° uL&@ Do W 30° uLé@
BIEFLD U]

68°7' dlpse Sisswd
97°25' flpé@ Srésd eueany

L
(C) & auLsE Pse 12° uULEEG SFs
aueny

(D) 45° auL & HiFsD (1pge 80° euLd@
BIFFLD U

Bgs @m Qumhs_dsaflen/ s_dsafien
@en G @pHur sienwhgererg ?

(A) Slerargs umbse whpb
uélis Clumms_d
(B) @pflw Quuhs @ whmbd Agen
&6
(©) Qpsu CQuBhs . LHPIL s
GumhisLd
@ SrdésLe wHQL euksTer
eflfl@gLm

X-CMTSE-2024-1l / A

17

41.

42.

43.

Which geographical feature is considered the
natural boundary to the North of India ?

(A) Eastern Ghats
(B) The Deccan Plateau
(C) The Himalayas

(D) Thar Desert

India's absolute location on the globe is :

(A) Between 20°N and 30°N latitude
(B) Between 68°7' and 97°25' East longitude

(C) Between 8°N and 12°N latitude

(D) Between 45°N and 80°N latitude

India is situated between which two oceans/
seas ?

(A) Atlantic Ocean and Pacific Ocean
(B) Indian Ocean and Southern Ocean
(C) Indian Ocean and Arctic Ocean

(D) Arabian Sea and Bay of Bengal

P.T.O.



4. @pfwreller yarHCrrpn s

2iflswrs el Cumd ugH ag ?
(A) Cuop@ Cgm_iéfl wene
@ auLdlpss Gpswr

(C) snmm ureneEUETLD

(D) @pPw smems swbleuef

45. @ndlurellen sre Hanass, wadwuwren
sr&sgens gHUBSSID sryeanfl erg ?
(A) PopBsCamn_yd Qnbs Smbd
B) ecwrb whpt BesGembpid
@ LI(TH 8L & T (D) 1) &5 6T

(D) sLelleblmbs <epopgieTar
Gsreneay

46. Spssan wan auamssala, @hdiurefa
umEH sr@ugsE Hseybd gHn wer
ergy ?

(A) Esbwear

(B) &remer DewT

47. Spssan. @pHu wrflonsafld smoy
2 pusHller psenewwren ELFag
eudllug) ergl ?

(A) uepsTL

(B) wamyragiy.y
@ 257 ArGsen
(D) sWlPpHTH
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44.

45.

46.

47.

Which regions in India receive the highest
annual rainfall ?

(A)
(B) North-Eastern India

Western Ghats

(C) Thar Desert
(D)  Indo-Gangetic Plains a

Which factor has the most significant impact
on the climate of India ?

(A) Distance from the Equator
(B) Altitude and Topography
(©

(D)

Monsoon winds

Proximity to oceans -

Which of the following soil types is most
suitable for cotton cultivation in India ?

(A) Red soil
(B) Laterite soil
(C) Black soil

(D)

Alluvial soil

Which of the following States is the leader in
the production of sugarcane in India ?

(A)
(B) Maharashtra

Punjab

(C) Uttar Pradesh
(D) Tamil Nadu



48. s prourser HALLEHDE FToeds
<0 wedwu B SsTToNs 2 dreng ?

49.

(A)

C

(©)

(D)

@ndlyr srpdl srdeumi b
FrgmT FErmeul <jenem
LIGTTHRISE <enesT

BrETTgmSan sTET jenant

geupnen smpenn Cainlls®

(A)

(B)

(©)

@nsurele @ris Cerenswme
< @mBGCsTHD CuamsaT Lnglasl-
updleénment.

G@DhsULE s eblenaw GOHlL-
uns fmy edleusmlsemer LTg&ETE-

LAET

Fwsgellenenoen GoDULSDE
euarit ey eafl elFUygpenp
eufluwrdng.

@ plpssha Cpsays Csmfd

50. sWPHTLigeD

CeT@GULSMmET ST IG@ID uUTEeaS
Qe Aer@LLseT Sifls Cauane
cumilenu 2 (heuTs@denpern.

G eu emevull e e Lo ull e

ehlflsib

(A)
(B)
(©)

25% G
7.2%

10.5%

@ Gupsaidlu ergieyb Geena
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48. The Narmada River is a major source of water

49.

50.

for which irrigation project ?

(A)
(B)
(€

(D)

Indira Gandhi Canal
Sardar Sarovar Dam
Bhakra Nangal Dam

Nagarjuna Sagar Dam

Tick the wrong statement :

(A)

(B)

(©)

(D)

Women in India are affected by
Anaemia every vear.

Minimum Support Price protects
especially the small farmers.

Progressive tax is necessary for reducing
inequality.

Automotive Clusters have generated
more employment opportunities than
Textile Clusters in Tamil Nadu.

Unemployment rate in Tamil Nadu is :

(A)
(B)
(©
(D)

Above 25%

7.2%

10.5%

MNone of the above

P.T.0.



51. seupnew smpenm Czirey Cslis.

(A) sfls vamliyssd sfls aflene-
CuppsdpE el aGsSLWD.

@ Senangs euens uewrluflorHng-
@ e Canstisanea LWaTLHSS
Geuaim(Ld.

(C) Qgmflereriaer erenueui Gausme
Qeuwd Hper wpgw Geaume
Czueaursemers GHlsSHnsg.

(D) eesvwwbrisd @nhdwureldn
Aurgigsenn  Bloeenmsafen
cramentisensanu GenDULSDHE euld
UGS

52. Spésarreupie THS e

Beo el Qummenrs Bevened ?

(A} eTau

(B) (Nemengmy sHmILILWENS

@ LDEREET SieT

(D) G@ulCrmed

3. WreuL b i $ls
cramenfldensuiawrer euafl @igCGupp
uflefler wpenafleana udlsdledanmg.

(A) Gsed

(B) (ogieoy

© FHonEdpadGasd

@ Smefrriveref]

X-CMTSE-2024-ll / A 20

51.

2.

53.

Tick the wrong statement :

(A) More money in circulation may lead to
higher price levels.

(B) Ideally, metals should be used as money
for all transactions.

(C) Labour force refers to those capable of
working and seeking employment.

(D) Globalisation led to reduction in the

number of Industries reserved for public
sector in India.

Which one of the following is NOT an
intermediate good ?

(A) Steel

(B) Electronic Circuit Boards
(C) Turmeric Powder

(D) Petrol

I district has higher level of
emigrants.

(A) Salem

(B) Madurai

(©)
(D)

Tirunelveli

Tiruchirappalli .



54. geupnew smpeny Csira) Calis.

(A)

Hlwruwrer aidssnd Grrédw-
WOTEN @lpene) £ (Heums @ erenp

er@iruriésuuBEpg.

@ Bluruwre eafdssnd @ HHw

(©)

(D)

wrhlenisaflen a@moren Fn55 e
leenioenil GHemEGLD.

@pPwur ofs sera) wophar
agppind Cealfpg.

ssafl, curerfiun GHss Gurg
eLeur® (GATT) Smelw
wrpseafle Gnhdluireb gemm.

55. sirdlen Apdlopanpuynssin Gamur®-
HemET |

56.

(A)

(@

(©)

(D)

bflwenn UL s dswearu(Bss
gD,

pHwep slLssrd CeuduBsis
PTG

Sjigliven, 2 flemnsafiié gm LGS -
wng &M Geuem(Hib.
2rs& sLLruors Seétubp

Caan®id.

“aeflCarr Gussd’ eremm Garawena
2 (peunsElweut wri ?

(A)

(B)

meugmiremed GH(m,
@eunGo m&mmLom

O .cs spssemGomen

(D)

& oem
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54. Tick the wrong statement :

55.

56.

(A)

(B)

(©)

(D)

Fair Trade is expected to promote clean

environment,

Fair Trade will reduce income
inequality across States in India.

India exports a very high level of virtual

walter.

India is among the founding members
of General Agreement on Trade and
Tariffs.

The Directive Principles of State Policy are :

(A)

(B)

©

(D)

Legally enforceable in court

Not legally enforceable in court

Deemed to be part of Fundamental
Rights

Mandated for the Government to

follow

Who coined the term “Non-Alignment” ?

(A)
(B)
©
(D)

Jawaharlal Nehru
Kwame Nkrumah
V.K. Krishna Menon

Sukarno

P.T.0.



57.

58.

59,

60.
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grré senwlndd o glfenmns Beoeong
BT lqenerm samml_hl.

(A) splsraflevgmen
(B) yuLmem
(C) wresde sar

Wlwmesmom

©

SpsamL_aupmer g GHHw srHwud
sl gdlen s L e fevwwin@d ?

(A)
(B)

)

(D)

swigieu o flenw
Cu&sfleno
Qerggflenn

Fow gy e Moo

erpsl 9feflen S =g liven e fepin-
sar gnanns alwsflé Gardreriu-
£lenpen ?

(A) sl ulfey 32
(B) slLl9fay 368
(C) slLubfley 19
@ st C19fay 352

“s&gpErn, Fuggean, sCarsrimen”
W PesssgLa QsrLiyeLw
Lyl erg ?

(A) =Cwflés sllGgmanGumT
(B) reipwu yrsl

O saresn yrea

(D) @mdlarbs Lrlé

~00Do-
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57.

58.

59.

60.

Identify the country that is not a member of
SAARC from the following list.

(A)
(B)
©)
(D)

Afghanistan
Bhutan
The Maldives

Myanmar

Which of the following is a legal right under
the Indian Constitution ?

(A) Right to Equality
(B) Right to Freedom of Speech
(C) Right to Property
(D) Right to Religion

Under which Article are the Fundamental
Rights automatically suspended ?

Article 32
Article 368
Article 19
Article 352

(&)
(B)
(©)
(D)

The slogan “Liberty, Equality and Fraternity”

is associated with :

(A) American Revolution
(B)
(€

(D)

Russian Revoluton
French Revolution
British Revolution

~00o-
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